X £ 4 T8 FEEZTEMEEEFRERKAR
2 @& £ 138 J)=VRAVFTLEIT 2016458 13H
F— L 1 2 3 4 5 6 7 8 9 &t
- B 0 1 0 0 0 2 0 1 2 6
PN::i]:E S 0 0 0 2 0 1 0 4 X 7
T—JIL
F—L | TE | RIT | 83T | W% | =3k | BE | BRE | &% | %
EFEE | 36 10 1 8 10 2 12 2 0
KEHE%E | 27 6 7 3 3 1 6 3 1
,(‘\yj—-u_
F—L % F W F
HWFEE EHRBRE 273 AEE (1/3) PN SN
PN E S FEMS} (7-1/3) tkaKEE (1/1-3) FERE  (1/3) RiEE}
& 4T g H
REIT: PMAEGEFIER) KE INAHETE
=B TEERI(KHEX) —g INEFE
TR FHREXRKHER) g8 & #Esh
=8 INKAIE 18
= E329=|:
X & 4 EH28EEEZTEMMREEFERFTEAL
2 [E15% % 2 A J)—=VREVTLKIT 2016558138
F—L 1 2 3 4 5 6 7 8 9 =t
| 2 0 0 0 4 0 0 0 0 6
KXEAXH 2 1 2 0 2 1 0 2 X 10
T—7 )L
F—L | 1TH | RIT | 83T | % | =ik | B8 | B2 | &% | &
#m| 29 7 5 6 5 3 7 1 0
KXEAXH 39 17 4 6 3 1 13 4 2
INyT)—
F—L % F W F
| ERIFE (5 BREEMR Q) 1 AN
KEKXH FEEA (9 HEHESHE
k ¥ = H
AREIT: FEHEAKEKH) KE RATE
=847 L —£8 ShLUE
ZEYT: EEEE BARSE. MBEXFHXEARH) -8 BIXEHR
=8 HIREET
= & ZEsh




X = 4 TH28FEEEZFRAMESEFFIRTRAR
2 @& £ 154 PN Bkig 2016558138
F— L 1 2 3 4 5 6 7 8 9 &t
PN::! 0 0 0 0 1 0 0 0 0 1
MHEBxR 0 0 0 0 0 0 0 0 0 0
T—JIL
F— L 8| 4T | 8897 | W% | =ik | B8 | BE | &REK | 6%
PN::! 32 5 1 3 3 0 8 1 1
MEBE | 29 4 3 2 7 1 7 3 0
,(‘\yj—-u_
F—L % F W F
PN:: PREET (9 ANHBEH
MEEE | FEEARE (9 HHEX
& 4T g H
AREIT: KL KE EH %
=837 #HL —g BEEA
Z2¥T: BRUER. BREE. FRSIFE(KE) g8 INAHEEER
=8 #t EE—
= fERREH
X & 4 TH28EEETEMESEFERFTRAE
) EE = 2 A K ith k1% 20165F5A 130
F—L 1 2 3 4 5 6 7 8 9 &t
iR 0 0 0 2 1 0 SEla— L 3
RKERT % 3 0 6 0 0 4x 13
T—7 )L
F—L | 1TH | RIT | 83T | % | =ik | B8 | B2 | &% | &
iR 23 5 0 1 6 1 3 6 0
RKERT % 29 10 1 4 2 2 5 1 0
INyT)—
F—L Eitd F W F
iR EiEEMs  21/3) WWA—E (2/3) =M (2-1/3) SR, BEERIET
RKEh T % BmARELN  (6) EANER
& T = H
AREIT: L KE EFEE
=84 sFREB(KEIIX) —£ fE R REH
—EiT: EERIBECER). BREES. AFEMth(KEiiTE) -8 GINIER
=8 HMEZ
= EESEA




